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a— 2y K — F‘H - 2N a— 2y K — KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - k$ AIEH - B - K-
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) 2 — R 9:15 M5 42 (40) =z I B RS 12:25
KA H i =8 Hard PN H i E Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| H%E ] AA 2k
1 1 Ak A H BA$ESC 2:10.85 2:01.06 4:11.91
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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T4 = o Hi R 1213m
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AREBS— 3 No. SAJ25-GS-50/91
1A4H 2 K H
a— 2y K — FH - 2N a— 2y K — KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - k$ AIEH - B - K-
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) A A — R 9:15 M5 42 (40) 2 — IR 12:25
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 gt B 4 S 157 = 157 N | = 155 D N GV N
1 2 ok LiFhn 1:30.44 1:30.71 3:01.15
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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AREBS— 3 No. SAJ25-GS-50/91
1A4H 2 K H
a— 2y K — F‘H - 2N a— 2y K — KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - th AIEH - B - K-
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) A A — R 9:15 M5 42 (40) 2 — IR 12:25
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| H%E ] AA 2k
1 3 R A RV 1:39.93 1:35.43 3:15.36
2 5 e 2 KBERE =, 2:09.68 1:52.06 4:01.74
DID NOT START [1st RUN] 1
4 HE BE XKL
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE L& ]
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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T4 = o Hi R 1213m
M EERE Hil € [Z5] 2 289m
AREBS— 3 No. SAJ25-GS-50/91
1A4H 2 K H
a— 2y K — F‘H - 2N a— 2y K — KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - jt$ ISR - B - KW
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) A A — R 9:15 M5 42 (40) 2 — IR 12:25
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| Héﬁ ] AA 2k
1 11 A Sk /N KL 1:42.44 1:40.99 3:23.43
2 7 [L AR IR B AR VIZ 1:52.79 1:51.31 3:44.10
310 oy s IR 1:50.74 1:54.45 3:45.19
4 8 W ER XKL 1:57.33 1:56.74 3:54.07
5 9 8 FEA /N KL 1:58.45 1:57.46 3:55.91
DID NOT START [1st RUN] 2
6 NEE R AU v b
12 &4 EE LI
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

Ak mh EE

2013-02-03 / 1 FB DX F A X —F
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LAR  2AKH @ @ L—x
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0
0
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DATA PROCESSING by SE I KO

TIMING by SET KO
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F5k INE fR (3 50] e 1502m
T 4= a s 1213m
M EERE Hil € (%50 ] o0 289m
AREBS— 3 No. SAJ25-GS-50/91
1A4H 2 K H
a— 2y K — FH - 2N a— 2y K — KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - k$ AIEH - B - K-
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) A A — R 9:15 M5 42 (40) 2 — IR 12:25
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| H# ] AA 2k
1 13 03012150 #pe E= Doing 1:12.60 1:15.06 2:27.66
2 14 /IVUNEA B & AR VIZ 1:54.80 1:54.02 3:48.82
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F5k INE fR (3 50] e 1502m
T 4= a s 1213m
M EERE Hil € [Z5] 2 289m
AREBS— 3 No. SAJ25-GS-50/91
1A4H 2 K H
aA— ATy H— F‘H - 2N a— ATy H— jwﬁ 50 (57 5]
ISR - A - HH ISR - A - HH
ISR - B - j@; ISR - B - jt$
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TP % 43(41) 2K — R 9:15 M5 42 (40) 2 K — R 12:25
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NERE Ap=b =N EEHEE - 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| Héﬁ ] AA 2k
1 1503013092 ‘HiE EBX M AESC 1:18.63 1:20.51 2:39.14
2 22 03014220 A EEC TR 1:20.17 1:22.58 2:42.75
3 18 AR FnsE SEED 1:24.56 1:27.78 2:52.34
4 21 PR LiFh 1:28.06 1:28.96 2:57.02
5 16 AN S e 75N A 1:30.51 1:28.09 2:58.60
6 17 o HE LW 1:30.13 1:30.98 3:01.11
7 23 AR KA A TT 4 1:31.98 1:33.27 3:05.25
8 19 Y WK AR VIZ 1:33.94 1:34.73 3:08.67
9 24 03014217 = x KEERE o, 1:36.08 1:37.76 3:13.84
10 20 e —i0» XKL 1:34.64 1:43.57 3:18.21
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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JERE A5=b -b B 1AH 2AKH A F b—2A
No No KA B 4 BB 4 (5 T A I iR AV
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Bk AT S (& (]
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DATA PROCESSING by SE I KO TIMING by SET KO
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RET A — 3 No. SAJ25-GS-50/91
14AH 2 KH
a— 2y K — F‘H - 2N a— 2ty H— KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - th ISR - B - KW
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) A A — R 9:15 M5 42 (40) 2 — IR 12:25
KA H i =8 Hard KA H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| H%E ] AA 2k
1 191 I BERE X RL 1:21.32 1:19.99 2:41.31
2 188 03010526 JL.O [HA AT 4 1:22.44 1:21.78 2:44.22
3 190 03012782 i 1HHR AT 4 1:23.38 1:27.07 2:50.45
4 192 03014251 &4 PEYN A% 1:28.73 1:29.26 2:57.99
5 193 I R FHZX— 1:32.58 1:37.13 3:09.71
DID NOT START [1st RUN] 1
189 ZH FRE /N KL
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F=890
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 gt B 4 B R OB R B R RAU b
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
2013-02-03 / IZB DX FRF— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO
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F5k INE fR (3 50] e 1502m
T4 = o Hi R 1213m
M EERE Hil € (%50 ] o0 289m
AREBS— 3 No. SAJ25-GS-50/91
14AH 2 K H
a— 2y K — F‘H - 2N a— 2y K — KB Bz (57 5]
ISR - A - HH ISR - A - HH
ISR - B - k$ AIEH - B - K-
ISR - C - 15 M ISR - C - 5 M
ISR - D - 4 1 ISR - D - 4 1
TR 43(41) A A — R 9:15 M5 42 (40) 2 — IR 12:25
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -7.5C / -6.5C 2B —K/T 4=y a kiR 0.1°C / 1.4C
F=890
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5| H%E ] AA 2k
1 200 Al AT FH AR — 1:19.07 1:21.71 2:40.78
2 199 (L Bk FHAF— 1:30.93 1:28.16 2:59.09
DID NOT START [1st RUN] 1
198 FIE  Fh AWSC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Hifkk @ EE [&1l]
2013-02-03 / IZB DX FRF— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



